
Ch- 
CUBES AND CUBE- ROOT T3 5/2/ 

Ex euise - 4(A) 

Fncl he cube o 

(1- l1Xt1x 
133 343 

IoxlbXI6 
409b 

(fo)3 23 xA3x23 
12,1 12,1 6 

)31= 31x31 X3 
29491 

(VT12= 2Yq2x 42 
088 

us4- 5HY SuySi 

Fnd euhich olthe ollouing ae poehett cubea? 

31243 
3/8 

249= 9Y3x3x 3X3 
Nod a peeleet eubog- 



21538 
2/499 

)S88 A xAx 3x9X 

Nata pexhect tube 49 

1 1331 11X11X 
= I1 I) L83 

11 21 Soy t is a pehoef cbe 

( 2uo0= x Ay RXA XAYax3X 5x5 2 24000 
21200 

26000 
2/300 

Not a pethed cube 

2 

2 Hs 

3/39 

(v) 
=2xax3 

12 
So tkis a pochet oube 

3//2P 

23 
2/132 

2PI6 

2/ DP 

y 



M)1938 2Y3X 14Y19 
21 193& 
369 
//323 

19 

Not a peloo cbe 

SFind Cube o 

d) 1 (21) 

/21 21X21X2 
10 Xtoxo 

926 9-261 
/O00 

(h.4 (0-4) 
H yuxy L 0-064 

'OXIOXI0 O00 0 

(n 6= (1-6) 
3 

= 1L)= X16x16 
1OX1OX10 

4096 4-016 
000 



( 5(2s) 
2525x 25125- 5625- 15 62 

10X 10 X 10 000 

(V6-12=(o12) 

29 0-00H2 /12 12X 12x12 
00 0Ox 100 X 100 

) o-02-(0.02)

2x 2Y2 0-000008 l00 00X j00x 100 oOcoco 

) D.g=(0- g) 

S12 0S12 
oOD 

X8X8 
0 OXIOXIO

Finel ihe Lubes k 

- 3x3r, At 



8x Sx8 512 
qx 9x8 29 

to YlOx1o 1000 
13X 13X13 919+ 

qxQx9 29 

23 

( (v) 2- 22 
5X5XS 125 
2x 2X2 

-15 
S Ffrd he twbes P 

-3 E3) 3X-3x-3 
=-2t 

td- ET)= x-X- 
= -3u3 

(i)-12 (-12)=-2X-12X-12 
-H28 



u)-18 iS -19y-18Y-18 
-5832 

(-25 f25)25x-25 x-25 
-15625 

( -30 (-30)=-30X -30X -30 
= -21000 

(vi)-50 = (-50)= -5Ox-50X-50
-123D0D 

.whioh sk the alouing O ceubes up 

) an euLen MLLmbet- 216, 8000, 4096 

dD an odd numbet- 429, 3945 25, 33,9261 
219, 4-29 9345,8000, 125) 343, o9and 92 



Fircd the Jeng muumbet by tuuhich. 1323 mugt be 
mubttplfed sohat the poductt a peuoct ceube? 

Ang 1923 =Sx3XBX+X* Ang 3 1323 
3 H4 

So, t egot s the Jengt 
numbey hot mugt be multtplfee 

B1323 
Ceth 

8 FUnol the lengt number by uhseh g468 mugt be 

diuteol sothat the. qustiont isa pocect uhe 

AD&8+68= 2x2x2 X21 2 x2X 13 

So, 134 f the oensntomboe
ihai mus be dlufded $+68. 2868 

2399 
22/92 
21016 
2548 
2/27 

3 

uth 

9 Fund dthe gmllest no bycuhich 

4483 be muci plfeol ogod a 

peret tube rembe? 

9 

483= 9x3x3x3 x+XX 
3X3=q 

So,9s Jensi raumbo that 

must be multiplied uith a3. 



Ang = 2x2x 2 x2x2x2_X 3 Y3x X5 

I t0tth tuhat lengt mtembeot mugt 8640 be 

dided 20ihat the quotfont. is a pothoctcube? 

2 8640 
232 

22160 
1080 

2S40 

So mneà is the loagt 
membes that meugt be 

Ceeth 
diuicded ce 9640. 

2/20 

3/13S 

I Ohsch is the Smallegt mumbor that mugt 

bmubtipsed to +45 to make e 
Peeheci Lube ? 

Ang 145=5X5X3X Bx TXHx 
x3 1S á tho 

smallos mumbot dhai muSt 
b muubtiplí ed to +NS 

SS435 

3102 

9 



Exercise 4(B) 
1 Ffnol tho ube-Jecote ek 

O6-V2x2x2x2x2x2 
26 

232 
2 16 
28 
24 

2 

(t943 = XHX 
99 = 

U 29=SX3x3x3x3 x3 S/429 

S/243 

81 
=3X3 = 9 

3/27 

39 
3 

(VI+28 x Ax x2x2x2x 3x3x3 2 1728 
284 
y32 
2 216 
2 109 
25Y 

3 2 

x2x3- 12 



g261 BXBX 3x+X+X* 3 19261 
=3x+= 2 

3o29 
PB43 
49 

vi o96 2X2x2 x2x2x2 X2X2 
X2X 2X 2X 2 2/ 4096 

2/204P 
2 02 

512 

= 2x 2X 2x 2 2 
=6 

2 256 
2|128 

2 6 
2 32 
2-16 
28 
2 



vitgo02x 2x2x 2X 2x2x 5X5X 
= 2x2 XS 

20 

28oo0 
2 4000 

2000 = 

2(1000 

2/500 

250 
5125 

V3345 - 3x3x3X 5Y5XS 3315 
2 2 
3t5 =3Y5 = 15 

sT125 
sl2S 

5 

Find the tuhe-tedts 
5X5XS 3X9x 

LXHx 
t) 125 0)2 

6x6x6 



S43-YE 

SXBX8 512 

cfo) 64Y29 

-4y4yyx 9X9x 

4X= 36 

) 29 X8000 

(v 6Ux&+ 

=J4xxx3Y3X3 
x9y9x 20X 20 X2 

=9x 20 = 180 
yx= 12 

(Vto3345 X512 

J5IS XIS X8XEY8 
= 15X8 = 120 

9 Find the tube teots c 

v-bX-bX 05128x-9 
--8 

G1-193 = -1X-1X 2 Sx-9-5 
=-|| 

V25 



(B 

(ui)S12 
343 

4X-4x-4 (-6 
343 

Sx-8x-8 

vi)-194 = -Bx-13x-13 

=-13 HS8-8 
-18 

)R-2+-14000 

=-2 44 XJ00O 

2xyex -Y+Y X 10X 1OX I0 

-2X +XI0 = -140 



Fiod the ube xcdts o 
v2 x2x2 Y+Y 

244
1OX /OX (0 

2X 

21 21 
0 926 V21X 21 X 2 

9:261 Ox1OxIDD 

.V3X3X3 
J0O X 100X/00

0-03 
(ii)o-0oo0243

/000 000 
100 

-0.9 -0.512. 512-8x-8x-8)-e.512100D 10X1OXID 10 

( 5.625 S62525Y-25Y-25-25 ( -15 625 100D 10X1OX 10 

=-25 
(vi-nX 100D=5-5 5 x10x10IO 

-5X10= -S0 



6 Fnol the gmallegt numbe bu tauhich 262144 
sheule e diuicteol s0thmt he quetiornt s a 

pociaei tube. 

624- 2x2Y Sx3x 3x3XYxXG Ans 

2x2x 3X3= 36 is the 3mallost 

numboy hat mug+ be dfuiolcol tuth 26244 

GOhot i the Jent numbor by uhich 30345 
Shauld be multsplEool to qota pecect zube? 

Ang 30345 3Y3x3Y3x3 x 5X5XS 3 30345 
3l0125 
3 33t5S 
31125 
235 

Sl2 

So 3 he Jenst mEambor thot 
must bo muultiplfe 

Find the tube-rosts e: 

H00x2x49 xs 

= X 2X 2X5X5 X2X+X+x5 

X+X+x 2X 2X2X 5X3XS 

4X 2x5= +0 



8) 

( -64X-125 ()-216x #28 
= -x--X5S 

Ev-6x-6x-bX 12X 12X12 X-5 20 

= -lox12-12 

(V229 
-19>) 1x--l 

() -3x-x-3 
V+XX+ 

9x9x9 

-
= 

(ut)50.04 
25004 

1000 

Olo xID 
3x 63 -3 



M Sblb 

22 x2 x 2X2x2x2x2x2-X-- L 

2X 2x 2 x- 

56 

YASH VARDHAN NAIK 
VI (A) 
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